20248 =0ila eI S

H & 0l & AHS B Ml A

=3
2l ot SAAME 28
=2 244l X o HS)
B3 SRI(EH) - HRA - BaS ofl &t e DS
ZH Dt 41,742,005 39,542,933 199,072
= 19,233,675
[ 1,260,746
Al 18,215,866
- 3,031,718
glilcts SXAE 24 2,358,430 2,261,442 96,988
Al 1,937,807
- 420,623
Ar2lSX2 23d| X 2,007,429 1,942,871 64,558
Al 1,640,306
- 367,123
=2 29 1,979,429 1,922,141 57,288
Al 1,634,306
- 345,123
201 er2 3| 3,600 3,600
01 AtR2te|HI 3,600 3,600
OAlE= FII8E EA(IT7SEAMST2
) 1,800,000 22 3,600
203 SR =4 35,100 35,100
03 AIMF=TARFA 35,100 35,100
O Nots Lis=Ag+ &4 =&
15,000,000& +1%0.9 13,500
oze=Xsd S ge =d
12,000,000& *1=+0.9 10,800
O=X & =2 g2 =4
9,000,000 *1+0.9 8,100
OFCIMEXE AR =&
3,000,000&+1+0.9 2,700
204 MRt FH| 12,600 13,800 A1,200
02 E3g 23| 12,600 13,800 A1,200
otfel syl 50,0002 x21H*12& 12,600
307 @I2t0| & 1,928,129 1,869,641 58,488
Al 1,634,306
T 293,823
10 Al SXAIEEHE2EHI2X 1,921,129 1,856,881 64,248
OogSeEAzsA2 29
971,112,000 14 971,112
Al 827,176
T 143,936
OUEAtal=X2 23
950,017,000+ 1 950,017
Al 807,130
- 142,887
11 ARIEXAIEEE 7,000 12,760 Ab,760
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=
ME: F0ID BTG ZIA 2
Rl AleISX2 2g8] X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAgna =Z0s W=l
7,000,000 14 7,000
MEXZ JlsES 28,000 20,730 7,270
Al 6,000
T 22,000
401 AIEHIZ 2018 22,000 18,100 3,900
01 AlEHI 22,000 18,100 3,900
OLPSBNS=N NETABA( 202
SN - 2 THm HEA)
22,000,000&*14 22,000
405 Kt S| 6,000 2,630 3,370
Al 6,000
01 IR =SFSHI 6,000 2,630 3,370
OAMEISXZ IEE I12A43 AX(F0F
Ololat 2 &g 6,000,000& 1 6,000
Al 6,000
AM=XANE 29 351,001 318,571 32,430
Al 297,501
- 53,500
MHO| Mot HPags 2F 178,640 160,370 18,270
Al 178,640
307 212t01 & 178,640 160,370 18,270
Al 178,640
10 MEISXAIEHE2EHIEX 178,640 160,370 18,270
oMo HRAEA 22
178,640,000 170 2 178,640
Al 178,640
&9 ZCoW3 29 118,861 113,201 5,660
Al 118,861
307 @120 ™ 118,861 113,201 5,660
Al 118,861
10 AR S XAIEHE 22X 118,861 113,201 5,660
omEwa 2 N
118,861,000& 170 2 118,861
Al 118,861
ZEO 249 53,500 45,000 8,500
307 QI2Hol A 53,500 45,000 8,500
10 Al SXAIEEHE 22X 53,500 45,000 8,500
GRS
53,500,000 * 170 2 53,500
=0t B8 22l & N&E 1,805,186 1,710,228 94,958
Al 1,254,944
- 580,242
SHH XA 1,805,186 1,710,228 94,958
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SA: B=EY
My 20 9E 22 Y N
chel: 22 X (SH9 H2)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
ON2RIRTE MENA U SURS LY
X =l 2,000,000 14 2,000
od=s=Z0I12els MM ¥ SH2s &
& X =2l 2,000,000& =14 2,000
ORB4ENE HEA Y SUSE LAX
=l 2,000,000& 14 2,000
OZ=3 dFI L =52z LA =d
2,000,000 14 2,000
OLZMERs MAX £ SEH2s L4
=d 2,000,000 14 2,000
06. 25873 As MEA L SH2s Lo
A =l 2,000,000& 14 2,000
OEYNETMS MAX L =H2s 2o
X =dl 2,000,000 14 2,000
OMg=0olsl MAX & SEH2s Lo =
Al 2,000,000 14 2,000
O6.258 I | E>HAL IR
6,000,000& *13] 6,000
OE2HASY BEAY X2
9,500,000& 14 9,500
O=It73X HEXIJ
1,500,000 =14 1,500
OLI2tAtE 22 Z3tEiAL 2
20,000,000 1 20,000
HHKFSA 0l & &I 1,459,960 1,380,760 79,200
Al 1,132,944
- 327,016
201 2| 2,000 2,000
01 At 22|l 2,000 2,000
OB=HEZA B8 2,000
O & S20ME ME S
2,000,000& 14 2,000
301 LetENEZ 1,457,960 1,378,760 79,200
Al 1,132,944
- 325,016
02 AISIEZE LGS (HAAS, RYTHR) 1,457,960 1,378,760 79,200
OEFRIA MARAZZ XA
100,000 *110Z 14 11,000
o=zl X&
100,000 *262F * 123 314,400
Al 157,200
- 157,200
OFNEREX o= XA
130,000 726« 122 1,132,560
Al 975,744
- 156,816
H=d SIS WRHENsE 29 46,226 47,968 A1,742




SA: B=EY
My 20 9E 22 Y N
el 2= X2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
101 @124H| 26,066 29,008 N2,942
M ORINZZE2NSES 26,066 29,008 N2,942
OWMEuUsY 2l 2FY 26,066
OFJI=1=) 78,8803 x3& »82&! 19,405
o5+ 78,8803 x3& 142 3,313
Oext=g 78,8802 x3H 3 710
O4tHES 2,638
- =S 23,427,3603 4. 5% 1,095
- AYEE 23,427,360 *3.545% 831
- HINRAYEE 830,500 %12.81% 107
LEES 23,427,360 1.75% 410
SHHES 23,427,360& * 1% 235
201 eer23y| 20,160 18,960 1,200
01 AtR2t2|HI 3,000 3,000 0
Odgt+=H| 3,000
O2g+EH| 3,000,000& 1= 3,000
02 S52g4l 17,160 15,960 1,200
03323 % HAl 13,200
oNIIR3 1,100,000& «12& 13,200
OAIZ2 &= X 3,960
OM&Eusd =Xl
300,000& * 122 3,600
Ol 23 30,0002 12 360
FAAHE 25 & NE L3t 6,224,951 6,448,242 N223,291
= 2,800,000
= 1,208,654
Al 815,168
- 1,401,129
=2 S S8 MblA MS 6,224,951 6,448,242 N223,291
= 2,800,000
[ 1,208,654
Al 815,168
- 1,401,129
NSAtl2 82N 22 113,718 106, 112 7,606
Al 34,959
- 78,759
201 er=23y| 22,200 22,200
01 AtR2t2|HI 15,200 15,200
Odgt+=d| 14,000
OXISAIRI 2EEAIY Bt & HXEH = 2
MHl S 3,500,000& 1= 3,500
OXNGARI2E &, dFEAN 22+
70,0002 x50 +33] 10,500
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SA: s=EY
Hr: FobiE 25 U N 23l
ol =LA S8 S8 AL MBS EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXNGARI2E M S22 A
1,200,000 1 1,200
03 A= SHI 7,000 7,000 0
OXISAIR 2 EH 2 Q2AESAS
7,000,000 *1& 7,000
301 22N 3,600 4,800 1,200
11 AALAEIXIE S 3,600 4,800 21,200
O8N A2 2284 MHI2H
20,0002 60 & *32 3,600
307 elztol & 87,918 79,112 8,806
Al 34,959
- 52,959
10 AlISXAZEHE 22X 57,918 51,212 6,706
OXIHAIZI 2 & 1At
49,918,000& *1 49,918
Al 24,959
- 24,959
OXIS A2 2ZE AN 24
8,000,000& »1& 8,000
11 AMEISXAIEEXS 30,000 27,900 2,100
OXNSA2E STAY =4 16,000
OSEoM S (Azdst s & o
&IX| A8 3,000,000& 1= 3,000
OS82 243 23
1,000,000 1300 = 13,000
OXNSAt 2 ZE N dal At 14,000
Oouags SEAY 4,000,000 1= 4,000
O=gl0| 2t=0{Jl= Ot=2=X Eer2E 018
(FIEoola 7 HHE)
10,000,000 *1& 10,000
Al 10,000
g=XIe0tE 48,000 40,000 8,000
201 fer= 3| 18,000 15,000 3,000
01 At 2|l 5,000 5,000 0
g=eitd 2= ME S
5,000,000& 1 5,000
03 A= &I 13,000 10,000 3,000
OLPEXB0IL HAL 2
13,000,000& * 1= 13,000
307 el2to| & 30,000 25,000 5,000
1 AMEISXAIEEXS 30,000 25,000 5,000
O=2 Mg 24 28 S
30,000,000 *1 30,000
MBI M FO S L2ESMA 2= 2,500 2,500 0
201 2etEaEd 2,500 2,500 0




SA: s=EY
Hr: FobiE 25 U N 23l
ol =LA S8 S8 AL MBS EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 AlR2telHl 500 500 0
OMEBDAM HOIC RTzl0l BE 22
= 29y 500,000+ 1 500
03 A2 Y| 2,000 2,000 0
OMEBBANM HOICH TRUAS B &
&R As 2,000,000& %12 2,000
KA MHIAETIAY (A2 HE B AY) 1,543,572 1,530,426 13,146
= 1,080,500
Al 232,286
- 230,786
201 et 3| 5,000 5,000 0
[ 3,500
Al 1,500
01 Al 22IH| 5,000 5,000 0
ORI ASI HBIAS TARS (22HI)
5,000,000& *1& 5,000
s 3,500
Al 1,500
307 el2to| & 1,538,572 1,525,426 13,146
[ 1,077,000
Al 230,786
T 230,786
05 2IHRIE S 1,538,572 1,525,426 13,146
OXIH MBI AHIAS KA (IS H B LS
Ng=) 1,538,572,000& 1= 1,538,572
= 1,077,000
Al 230,786
T 230,786
KISAB MHIASE ALY (HEOSAHZXAANY) 42,858 38,056 4,802
= 30,000
Al 6,429
T 6.429
307 glztol & 42,858 38,056 4,802
= 30,000
Al 6.429
- 6,429
05 2ItRIE = 42,858 38,096 4,802
OXIAMEIAEIAETIAY (BEDRS A2
M) 42,858,000 1 42,858
= 30,000
Al 6.429
- 6,429
SSAEIS XL AN 15,000 15,000 0
s 7,500




SA: s=EY
Hr: FobiE 25 U N 23l
SRl =X S42 SE AMbHlA HE (e A
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
Al 3,750
T 3,750
201 er23| 6,320 6,320 0
= 3,160
Al 1,580
- 1,580
01 AtR2t2lt] 6.320 6,320 0
oget=ZH| 4,900
OAZRINRE L BDA I
600,000 1 600
= 300
Al 150
- 150
OJIEt 222 HMZEHI
4,300,000 1= 4,300
= 2,180
Al 1,075
T 1,075
OfIE =] 420
OSEAtddl2el At W=
140,000 +3&* 1 420
[ 210
Al 105
- 105
o=2g+d 1,000
OAtellzlel & AR HEIL 2l2+¢
100,000&x1& =103 1,000
s 500
Al 250
- 250
202 04| 1,080 1,080 0
= 540
Al 270
- 270
01 =LHOHI 1,080 1,080 0
O3|Y=RAY nFSF 0
1,080,000& 1= 1,080
= 540
Al 270
- 270
301 2= 7,600 7,600 0
= 3,800
Al 1,900
- 1,900




SA: s=EY
Hr: FobiE 25 U N 23l
ol =LA S8 S8 AL MBS EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 A EEATZ(2DEZME) 7,000 7,000 0
OSSMISXELHA (Atdl22]) XA
500,000& «14& 1= 7,000
= 3,500
Al 1,750
- 1,750
11 dALEBIXNIZE S 600 600 0
OAtellzlel & 2te3l S Chitdl
4,000 x150H 14 600
[ 300
Al 150
T 150
==X AEAE 3,500,000 3,070,000 430,000
= 2,800,000
Al 350,000
T 360,000
301 LEtE NS 3,500,000 3,070,000 430,000
= 2,800,000
Al 350,000
- 360,000
01 AR 2EHSHS(RDNEXRTHE) 3,500,000 3,070,000 430,000
OR”IZE XX A
3,500,000,000& 1= 3,500,000
= 2,800,000
Al 350,000
- 350,000
LAEE] SXDIsH 29 70,000 80,000 10,000
Al 49,000
- 21,000
201 er2&| 1,500 3,336 1,836
Al 1,050
- 450
01 AtR2t2|HI 1,500 3,336 1,836
OgAEel FXDIsH 82 & 23|
1,500,000& x 1= 1,500
Al 1,050
- 450
206 MH=HI 20,000 20,664 2664
Al 14,000
- 6,000
01 MZH| 20,000 20,664 N664
OogAEel EXDIsH HEHI
20,000,000& * 1= 20,000
Al 14,000




SA: s=EY
Hr: FobiE 25 U N 23l
ol =LA S8 S8 AL MBS EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 6,000
301 LEtE NS 48,500 56,000 AT7,500
Al 33,950
- 14,550
02 MBI 2HHSFS(FHAANS, XLHE) 47,000 54,050 AT7,050
QUM SXIISE SIIMTRAY
47,000,000&*1 47,000
Al 32,900
- 14,100
14 DBt 2 a3 1,500 1,950 A450
ORHESAT A4S
1,500,000& * 1= 1,500
Al 1,050
= 450
SHS ¥ SEAMHA X 129,506 128,258 1,248
s 90,654
Al 19,426
- 19,426
201 2= 64,506 63,258 1,248
[ 45,154
Al 9,676
- 9,676
01 Al 22| 58,266 57,018 1,248
SUIE ¥EY SEAHA N ER U 2
peta] 58,266,000 1 58,266
[ 40,786
Al 8,740
- 8,740
02 s3=gHl 6,240 6.240 0
OHEXIZO0l AIZBZ
40,0002 x130412& 6.240
= 4,368
Al 936
- 936
301 22N 65,000 65,000 0
= 45,500
Al 9,750
- 9,750
01 Al EE A S(FRDEXMA) 58,500 58,500 0
OsHs AEE SaAtlA XA
58,500,000 *1 58,500
[ 40,950
Al 8,775
- 8,775




SA: s=EY
Hr: FobiE 25 U N 23l
ol =LA S8 S8 AL MBS EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 dALEEIXIZE S 6,500 6,500 0
OA2sIl BT S
500,000 x1304 S*14 6,500
= 4,550
Al 975
- 975
sSAtdl2el2g 10,000 10,000 0
Al 10,000
307 212+01& 10,000 10,000 0
Al 10,000
1 AMISXAIEEXS 10,000 10,000 0
OggsAtd2el 24
4,000,000 *2JH 2= 8,000
Al 8,000
OAtdZel d2Ws % BIt213)
1,000,000 x20H A 2,000
Al 2,000
ASIERF Ze|(HEArY) 640,479 573,690 66,789
301 EtE N = 640,479 573,690 66,789
10 MSRREENS 640,479 573,690 66,789
OAN=R2E 52 525,000,000 »1& 525,000
OAI=223 wSH|
31,046,000& *1 31,046
OAI=R2F 1=
6,816,480 x 1= 6,817
OAI=S223 SAH|
77,616,000 * 1 77,616
SIYIE =3 70,400 48,000 22,400
Al 70,400
301 EtE N = 70,400 48,000 22,400
Al 70,400
02 MBI 2HHSFHS(HAANS, XLHE) 70,400 48,000 22,400
O3 ItE ==X 70,400,000 x 1 70,400
Al 70,400
ASAL K82 olg2e] At 38,918 12,400 26,518
Al 38,918
201 eer23y| 18,580 12,400 6,180
Al 18,580
01 At2teltl 8,500 7,500 1,000
OL=AH 0 82 & 23
8,000,000& 1= 8,000
Al 8,000
©24A12t Al 2201 XNZ A
500,000 1= 500
Al 500




SA: s=EY
Hr: FobiE 25 U N 23l
ol =LA S8 S8 AL MBS EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 S5=g4l 10,080 4,900 5,180
OAl JH0IZ Sl 10,080,000& » 1= 10,080
Al 10,080
307 elztol & 20,338 0 20,338
Al 20,338
1 AMISXAIEEX 20,338 0 20,338
©24A12+ AIZ 201 XA
20,337,600& 1 20,338
Al 20,338
Zofel SX sa 31,034,252 28,815,834 2,218,418
= 16,433,675
Al 14,181,901
- 418,676
iRl SXAMHIA K& 23t 22,283,412 20,810,400 1,473,012
= 14,253,426
Al 7,882,110
- 147,876
ZoHel=s X2 33,019 33,019
201 er2 3| 33,019 33,019
01 AtR2t2|HI 23,291 23,291
OZet=EH| 23,291
OGAMER(ETHHE 25
7,900 702 * 122 6,636
OZe S HYANE MEBSRP 39F
S=g 30,0002 x2EH %1504 9,000
OZUMAB SRR XD 25 1,070
EE2E =% WA 50,0002 * 157K 750
2= WA 20&x16,0000H 320
OIS FAASE2 L lHe ¥ S5
M 1203 *2,0000H 240
oFelgsAE =3 A2 22
EESES) 70,0002 x0H *43] 2,520
OS2 onela M=
150,000 «2H 300
OHFMAAINE WS A+
250,000 =22[+1H 500
OZMALINENE 0SS+
100,000 *23|*1& 200
Og7de =X =<
70,0003 »7 H*22] 980
OZOHQ!l Z=XFEXI 0K 865
F=x=0t 1,049:2 *4000H 420
- F=Abs 1, 1123 *4000H 445
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SA: B=EY
. ZOje =X S8
Chel: TOjOI SXIAHIA KB 25 (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ol F=22s MblL =AY
EEEErpss
70,0002 #23]+7H 980
02 S3=gl 9,728 9,728 0
OZMAXBEFRFS UHE LERS 9,728
OsJ1e3 2,5303 %3004~ 128 9,108
Oodttes 4303 * 12021+ 122 620
Zofel SX2tE L3KA 4,400 4,400 0
Al 4,400
201 LEH2 | 4,400 4,400 0
Al 4,400
2 2229 4,400 4,400 0
OFYA=TINE L2XR
4,400,000 * 1= 4,400
Al 4,400
ZOHQ! ofOlmA 2HeZI| X 4,400 4,400 0
Al 4,400
301 2eEN= 4,400 4,400 0
Al 4,400
02 AR 2HHLFS(HAAS, XNLHE) 4,400 4,400 0
OFO0HL! SlOIHA ZHH2D| XA
4,400,000 *1& 4,400
Al 4,400
o LR e X (SXLRel) 538,000 438,680 99,320
= 269,000
Al 269,000
301 EtE NS 538,000 438,680 99,320
= 269,000
Al 269,000
01 AR 2EHSHS(RNEXRTH) 538,000 438,680 99,320
OFI=XLRtel 538,000,000 1 538,000
= 269,000
Al 269,000
o LT 2 X2 (L LRtel) 1,123,540 1,095,702 27,838
= 561,770
Al 561,770
301 eEetE2 N = 1,123,540 1,095,702 27,838
= 561,770
Al 561,770
01 Al EE AL S(FRDEXHA) 1,123,540 1,095,702 27,838
OXOHAI LK}l (LEHE ) AL
1,123,540,000& 1 1,123,540
= 561,770
Al 561,770




SA: B=EY
. ZOje =X S8
el FOfOl SXIAHIA KIg 23t (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ZoHIRI2IXI & (AIRFHIZRI2]) 206,000 216,310 ~10,310
= 103,000
Al 103,000
301 EtE N = 206,000 216,310 210,310
= 103,000
Al 103,000
01 Al EE A S (2 RNEXMA) 206,000 216,310 210,310
OZOHI L X2l (AIZHH) AL
206,000,000& *1 206,000
= 103,000
Al 103,000
AZTEOHQ! CFOFAF THA AHY 186,100 164,005 22,095
= 149,000
Al 37,100
307 elztol & 186,100 164,005 22,09
= 149,000
Al 37,100
1 AMISXAIEEXS 186,100 164,005 22,095
OAIZZ0H! OHOEAF Lt
186, 100,000& 1 186,100
= 149,000
Al 37,100
Foielois =0 K= 4,795,322 4,871,648 AT6,326
= 3,356,725
Al 1,438,597
301 EtE NS 4,795,322 4,871,648 AT6,326
= 3,356,725
Al 1,438,597
01 Al EE AT S (2 RDEEMRA) 4,795,322 4,871,648 AT6,326
o= 4,795,322,000& 1 4,795,322
= 3,356,725
Al 1,438,597
=g SEXNE 298,000 298,000 0
Al 298,000
301 EtE2 N = 298,000 298,000 0
Al 298,000
02 MBI 2HHSFHS(HAANS, XLHE) 298,000 298,000 0
OXM==Z AHISEXH
298,000,000 *1 298,000
Al 298,000
=== (01x) X2 1,296,010 1,318,081 N22,071
= 907,207
Al 388,803




SA: B=EY
. ZOje =X S8
el FOfOl SXIAHIA KIg 23t (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 1,296,010 1,318,081 A22,071
= 907,207
Al 388,803
01 Al EE A2 (2RNEXMR) 1,296,010 1,318,081 A22,071
OBOULH(OIZ) NS
1,296,010,000& * 1= 1,296,010
= 07,207
Al 388,803
ZO=E (X9 8) Xs 472,743 544,641 A71,898
= 330,920
Al 141,823
301 EtE NS 472,743 544,641 AT1,898
= 330,920
Al 141,823
01 Al EE A ZS(2REXMR) 472,743 544,641 AT71,898
OB+ (AT SN
472,743,0003 14 472,743
= 330,920
Al 141,823
LEHTHEMHIA HIRH X 695, 163 684,000 11,163
= 486,614
Al 208,549
307 glztol & 695,163 684,000 11,163
= 486,614
Al 208,549
1 ABIZXIAEE 695,163 684,000 11,163
OTONOIS LLTHE MHIA HIRH
695, 163,000& 1 695,163
= 486,614
Al 208,549
22d0e 2245 N2 11,451 11,451 0
= 8,016
Al 3,435
307 elztol & 11,451 11,451 0
= 8,016
Al 3,435
11 AMEISXAIEEE 11,451 11,451 0
OgadMe 224E X2
11,451,000 x 1= 11,451
= 8,016
Al 3,435
Zoerel =4l 197,514 199,445 1,931
= 158,011
Al 39,503
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SA: B=EY
. ZOje =X S8
el FOfOl SXIAHIA KIg 23t (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 42,857 42,857 0
Al 30,000
- 12,857
11 AMEISXAIEEXS 42,857 42,857 0
OZ0e BXI17 2K
42,857,000 1 42,857
Al 30,000
- 12,857
ol 2SXd =X 10,757,384 9,459, 164 1,298,220
= 7,530,169
Al 3,227,215
307 lztol & 10,757,384 9,459, 164 1,298,220
= 7,530,169
Al 3,227,215
11 AMEISXAIEEES 10,757,384 9,459, 164 1,298,220
OFOO! HEXY S0IX
10,757,384,000& 1 10,757,384
= 7,530,169
Al 3,227,215
ol BSXE FIHKE A 952,289 952,289 0
Al 952,289
307 el2to| & 952,289 952,289 0
Al 952,289
11 AMEISXAEEE 952,289 952,289 0
O30 2SXA FIOHAE
952,289,000 * 1 952,289
Al 952,289
ST ES2X a0 X 280,943 163,467 117,476
= 196,660
Al 84,283
307 elztol & 280,943 163,467 117,476
= 196,660
Al 84,283
1 AMEISXAIEEXS 280,943 163,467 117,476
OEZHOj BELE JTO XY
280,943,000& 1 280,943
= 196,660
Al 84,283
SO LS BSAMHIA 243,577 170,547 73,030
= 170,504
Al 73,073
307 elztol & 243,577 170,547 73,030
= 170,504
Al 73,073




SA: B=EY
. ZOje =X S8
el FOfOl SXIAHIA KIg 23t (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
10 Al SXAIEEHE2EHI2x 243,577 170,547 73,030
OLLHOL YUSHSHHIA X
243,577,000& x1& 243,577
= 170,504
Al 73,073
JoHIESAE 7 FIHAE 100,000 50,000 50,000
201 et 3| 2,500 2,500 0
01 Al 22IH| 2,500 2,500 0
OBMNUIBENS 7 ZINNY SSS4R
2,500,000& 1= 2,500
307 glztol & 97,500 47,500 50,000
11 AMEISXAEEXS 97,500 47,500 50,000
ogsiE & FIHIEA
97,500,000 » 1= 97,500
ZOHQ! =B JHEAS 22,800 22,800 0
= 11,400
Al 11,400
401 Al HIZ R 0HbI 22,800 22,800 0
= 11,400
Al 11,400
01 Al&HI 22,800 22,800 0
OHOHQ! F=84 JHEAL
22,800,000 *14 22,800
= 11,400
Al 11,400
ZOHQl Kr&o|gt & 8,750,840 8,005,434 745,406
= 2,180,249
Al 6,299,791
- 270,800
ZOoHe! HFAIE 2SI 2,177,167 2,099,993 77,174
= 1,524,017
Al 653,150
307 gl2to| & 2,177,167 2,099,993 77,174
= 1,524,017
Al 653,150
10 Al SXAEEE 22X 2,177,167 2,099,993 77,174
OFOHL! HFAIE 2H(20HA) X
2,177,167,000& x13 2,177,167
= 1,524,017
Al 653,150
0l H=AE 28 I 185,916 65,431 90,485
Al 155,916
301 2= 20,000 20,000 0
Al 20,000




SA: B=EY
. ZOje =X S8
EHPlr Hope! reoiet &4 EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 MBI 2HHSFHS(HAANS, XLHE) 20,000 20,000 0
OEALEML NS N
20,000,000& 1= 20,000
Al 20,000
307 lztol & 135,916 45,431 90,485
Al 135,916
10 Al SXAEEE 22X 135,916 45,431 90,485
OO HFAIE 2 FIHXIJ (20H2)
135,916,000 1 135,916
Al 135,916
ZOHR HFAIE DIsSEH 6,800 33,390 N\26,590
= 3,400
Al 3,400
402 2I2E X201 & 6,800 33,390 A26,590
= 3,400
Al 3,400
02 QI X2 AL EE (01X THE) 6,800 33,390 N26,590
OO HFAIE JIsSES
6.,800,000& 1= 6,800
= 3,400
Al 3,400
0 NISAMATHEAE 2 1,687,043 1,687,043 0
Al 1,687,043
307 elztol & 1,687,043 1,687,043 0
Al 1,687,043
10 Al SXAZEHE2EHI2x 1,687,043 1,687,043 0
OTOHAFUES AL (2], 2312
1,391,069,000& 1 1,391,069
Al 1,391,069
O==0SAHE (212, 22H]) 2
295,974,000 1 295,974
Al 295,974
el HIBSHFAE 2EXE 888,267 817,690 70,577
Al 888,267
307 el2to| & 888,267 817,690 70,577
Al 888,267
10 AlRISTIAIEEE 22X 888,267 817,690 70,577
O SSHEIIE (2], 22
888,267,000& x1& 888,267
Al 888,267
Z0HQ THEXIZ ALY 98,392 98,392 0
Al 98,392
307 @20l & 98,392 98,392 0
Al 98,392




SA: B=EY
Mz mofel =X SA
chelr ZoHe! Xre|br 24 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
10 Al SXAIEEHE2EHI2x 98,392 98,392 0
OOt OHI S XIS AHIE (2], l21])
23 (1H2) 98,392,000%*115 98,392
Al 98,392
IR HTHEANE2H 1,490,952 1,490,952 0
Al 1,490,952
307 21201 & 1,490,952 1,490,952 0
Al 1,490,952
10 Al SXAAEEHE2EHI2x 1,490,952 1,490,952 0
OFONITIATHEAIL (2L, Q121H]) 2
1,490,952,000& * 1 1,490,952
Al 1,490,952
o Ngs X 29 X 164,266 188,330 A24,064
= 65,706
Al 98,560
307 gl2to| & 164,266 188,330 N\24,064
= 65,706
Al 98,560
10 Al SXAEEE 22X 164,266 188,330 A24,064
@7“0HOI g X2ME (23], 21241])
g X 164,266,000 1 164,266
= 65,706
Al 98,560
ZoHe! XrgdE XN2dE 28 =0t N 27,500 0 27,500
Al 27,500
307 212+01& 27,500 0 27,500
Al 27,500
10 Al SXAAEEHE 22X 27,500 0 27,500
ol NHLEEXNAMH 28 =0t A&
27,500,000& *1 27,500
Al 27,500
ol e XA 785,400 185,400 600,000
Al 725,400
- 60,000
307 @120l & 785,400 185,400 600,000
Al 725,400
- 60,000
10 Al2ISTIAIEEE 22X 785,400 185,400 600,000
OBONO! TRMEFE T2
185,400,000 * 1 185,400
Al 185,400
OFfe! TE+e 22| 2
600,000,000 *1 600,000
Al 540,000




SA: B=EY
. ZOje =X S8
chelr ZoHe! Xre|br 24 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 60,000
220 SXXE AL 142,500 142,500 0
Al 142,500
307 el2to| & 142,500 142,500 0
Al 142,500
10 Al2IS XA EEE 22X 142,500 142,500 0
OXIEFONS NSXHHE (2], el24H])
A& 142,500,000 1 142,500
Al 142,500
2EEohe! XX 70,000 70,000 0
Al 49,000
T 21,000
307 lztol & 70,000 70,000 0
Al 49,000
- 21,000
10 Al SXAAEEHE2EHI2x 70,000 70,000 0
OLLE X (28, n=, 0ItAHIA)X
a 70,000,000 * 1 70,000
Al 49,000
- 21,000
LEHOQ FUHESHHIA XA 585,894 594,571 N38,677
= 389,126
Al 166,768
307 elztol & 555,8%4 594,571 A38,677
= 389,126
Al 166,768
10 Al SXAAEEHE 22X 555,894 594,571 N38,677
Og2 M FHESAHHIA XA
565,894,000 14 555,894
= 389,126
Al 166,768
gsd atgstited Wizl A 5,000 10,000 25,000
307 212+01& 5,000 10,000 /5,000
11 AMEISXAEEES 5,000 10,000 25,000
Odsy el aeetitd wsia X
5,000,000& *1& 5,000
ZOH HEXZHE 2 105,300 85,300 20,000
Al 20,000
- 85,300
307 gl2to| & 85,300 85,300
05 212t =S 85,300 85,300
OTOHATHE XA HES (2SI, 1A X
85,300,000 *1 85,300
402 212+ X201 & 20,000 0 20,000
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SN B=HR)
Zu: ool =X B
EHPlr Hope! reoiet &4 EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 20,000
03 SIZt?( &AL I 20,000 0 20,000
0oL MEXBUE SHFH T8 ALY (F
BIFO0IA 7 EH0IE)
20,000,000& x1 20,000
Al 20,000
HORITHH, SAAL 2H2lX2 30,500 23,000 7,500
307 BI2HOI T 30,500 23,000 7,500
11 ARRIS XA E X 30,500 23,000 7,500
OF R HFDFT2I XML
5,000,000 170 2 5,000
OBNATESE L 2HLY A
19,500,000& 1= 19,500
OAAZ0NR! HE 2% Ate)
6,000,000& 14 6,000
OISEL2SSAY 20,000 20,000
307 212+01™ 20,000 20,000
05 git?(& = 20,000 20,000
CEREEENERS
20,000,000& *1 20,000
ZOjRIANS XIRAIS 2,000 2,000 0
307 212t01™ 2,000 2,000
11 ARRIZXAIE 2 X 2,000 2,000
OO QANM XIRAI (AL DLIE
Ao 44 50,0002 *403] * 1 2,000
NHZ0HE! BoISISXAME 2 84,343 80,000 4,343
Al 37,343
T 47,000
307 212+01& 84,343 80,000 4,343
Al 37,343
- 47,000
10 Al SXAIZEHE 22X 84,343 80,000 4,343
OXMZOQ HOISTI|SXIBME (S,
o1 24H|) X| 2! 84,343, 0002011 84,343
Al 37,343
T 47,000
A2 BEOISAIE SME &1 X8 10,000 10,000 0
Al 10,000
401 Al HIZL 201 10,000 10,000 0
Al 10,000
01 AlZHI 10,000 10,000 0
047 BHOISAIM SME &3 NS (F
DIFOOIA 7 H0E)
1,000,000 * 1074 10,000
A 10,000




SA: B=EY
. ZOje =X S8
chelr ZoHe! Xre|br 24 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al dAH=0 220,000 200,000 20,000
= 198,000
Al 22,000
301 EtE N = 220,000 200,000 20,000
= 198,000
Al 22,000
01 Al EE A S (2 RNEXMA) 220,000 200,000 20,000
OAELZT 43S0
220,000,000& *1 220,000
= 198,000
Al 22,000
ZoHe! el2st mek2Et KIE A 8,000 8,000 0
Al 8,000
307 21201 & 8,000 8,000 0
Al 8,000
11 AMEISXAIEEXS 8,000 8,000 0
OFOpQl oI2sr LM XA (F2F
oollal 2 FoE) 8,000,000 1 8,000
Al 8,000
ZEUH| ZOHeIFUESAIE E24] J|IE X 15,600 15,600 0
Al 15,600
301 22N = 15,600 15,600 0
Al 15,600
02 MR 2HHLFS(HAAS, XNLHE) 15,600 15,600 0
OZSUEl HOHRIFAUHESAIE 224 JIE
A& 10,0003 102+ 156 15,600
Al 15,600
AH2LIH(A=FHD 319,186 307,187 11,999
= 52,092
Al 26,046
- 241,048
ol (=52t 228,446 218,203 10,243
[ 52,002
Al 26,046
- 150,308
s 92,365 92,621 N256
101 @12A4H| 92,365 92,621 N256
01 2= 92,365 92,621 A256
OAt222+E 92,365
O6= 12,5313 *x3BA| 2H6H 122 31,579
org 11,3193 *x3BA 25« 123 23,770
O8= 10, 1622 35 A| 2H6H 123 21,341
O9%= 9,620 x35A| 2Hx3E <123 12,122
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SN s=m
D HNSAAY| (M=)
SRl QIE2HH|(H=H ) (S & 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Ox=Masl 83,812, 0002 *4% 3,563
SEARIBRIAL QIAHI(BRA HEX}) 136,081 125,582 10,499
7 52,002
Al 26,046
- 57,943
101 Q1248 117,541 109,290 8,251
7 42,821
Al 21,400
= 53,311
03 ZRE(RIHY) 22X 4 117,541 109,290 8,251
OSEARIZEIA QAHI(BRE MER) 91,501
OQIA| 2,150,002 324 %122 77,400
7 37,210
Al 18,605
= 21,585
OAIZtel %G 6,901,00024 %1 6,901
7 3,451
Al 1,724
= 1,726
O=Z| 7,200,00024%1 7,200
7 2,160
Al 1,080
= 3,960
OSEAZEIAL Z2l3 M| 26,040
OZEE It 1,400,000 3 23] 8,400
OnEEZH| 1,440, 000243 %1 4,320
OR2+g 600, 00021 %32#1 1,800
OFIIA0S 6,480,00024+1 6,480
O34l 1,680,000 +3E*1 5,040
304 plZREas 18,540 16,202 2,248
2 9,271
Al 4,637
- 4,632
04 BRI(LI|HA) 22X BHELLS S 18,540 16,292 2,28
C4UEE AEX 23 4,327
O=0193 4,327, 0002411 4,327
2 2,164
Al 1,082
= 1,081
oAlRE AETRLS 3,844
OEEICE 3,408,0002*11 3,408
2 1,704
Al 852
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i’
oF
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-

KIO

Hlw

MEE
Ofl &k2h

49,680
49,680

7,500
3,300

4,200

ol &rey

1,020
49,680
49,680

49,680

7,500
3,300
3,300
4,200
4,200

- ESS

- SRA(E) - HIRAY

S LRE-L

85,000& * 128

202 04|

01 =LA LI

180,000 x23E « 128
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KF
oF
ol

A

3,300,000& 14

0H

350,000& =128
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